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(Based on remember)
Answer any five Questions.

GROUP—A

1) Indicate the correct answer in each of the following : (10)
(a) Gauss’s divergence theorem permits changeover from
(i) Volume integral to surface integral and vice versa
(ii) surface integral to Volume integral and vice versa
(iii) surface integral to line integral and vice versa
(iv) None of the above
(b) Work done twisting a wire of torsional rigidity C through a gle 0 is
@) ;€6  (i);C6? (i) C.0 (iv) C.67
(c) When temperature increases, the surface tension of a liqui
(i) increases (ii) decreases
(iii) remains constant (iv) None of t
(d) The mean Kkinetic energy of molecul

(i) %KT (i) %KT (iii)§

(e) According to van der W
of gas is

critical temperature (T()

~ 8a
(l) 27Rb

difference ¢ is

same as those of Planck’s

(ii) Energy
(iv) None of the above
n involvin_g> D_r P ai:l E in a dielectric is

—-»> —»
@P=E+D G E =5,P+E
—> - > - —»

(iii) D = £oP + D (V) D = g,E + P
(i) The cause of reverberation is

(i) reflection (ii) refraction
(iii) interference (iv) diffraction
(j) A zone plate is similar to a

(i) convex lens (ii) concave lens

(iii) convex mirror (iv) concave mirror



GROUP—B

2) Answer any two of the following questions : (5X2=10)
(a) Prove that X X V¢) = 0.
(b) Explain the relation between surface tension and surface energy.
(c) Explain the action of a plane diffraction grating.
(d) What are reverberation, optimum reverberation and time of reverberation?

GROUP—C

Answer any four of the following questions: (10X4=40)
3) Prove that line integral of a vector along any closed path iS equal to the

surface integral of the curl of the vector carried thro
bounded by the path.

5) Describe capillary method of determining
6) Explain what is meant by degree of free

polarized light.
to single slit. Deduce the positions of
e intensity distribution curve.

and density 800kg/m3. The angle of contact between the liquid
the tube being 380. The diameter of one of the limbs is 0. 4mm and
mm. Find the difference in the levels.

12) Calculate critical volume, pressure and temperature assuming the equation of state

p RT _ R;;T

= e
V—->b

13) When a monochromatic source of light was placed at a distance of 50cm from a
Fresnel biprism, the distance between the consecutive fringes formed on the screen
placed at a distance of 100cm from the biprism was found to be 0. 012cm. If the
wavelength of light was 5893A, find the distance between the coherent sources.

14) A particle of mass 2 gm is subjected to an elastic force 0.03 N/m and frictional

force 0.005 N/ ms~1. It is displaced through 2 cm and then released , find whether
the motion is oscillatory. If so, find its period.







